GH 90 tverglasung bis 1.00m GH 90 GH 90
OK GK bis 1.00m (Riegel) A I\ %
\ F B/H 184/220 BHO| F B/H 335/220 BHO
éé F B/H 184/220 . g
o BH 100 180180 1 L~
w7, 20 10 2% 10 450
=4 £
Bad =1 2 8 Zimmer 2
m=2OR
= ]
A\ Zgégeong\eich Zimmer 1 -
S — g
AD Rinne 80cm| il
= OL 80x40 = ®
P LT L
g = we =] |
@ 3 - - % GS KS
ST QOD% @ 0 s 2 ¥ aa i %
- la = — =
7. + Qﬁ,ﬁoh < o ﬂ @J \%
} = 558 §
- [101/223 E S Flur 3
dts / T
| o
A= =
Karin W
anschluss
Auls?ellﬂéche s
a1
Wohnen / Essen

15

42

F B/H 335/220 BHO

F B/H 335/220 BHO

GH 90

GH 90

Balkon

GH 90



